DU TUN

ES SEIN

ES HABEN
ES GEHEN
ES WISSEN
SIE HABEN
DU DENKEN
ES MOGEN
ES WERDEN
IHR HABEN
SIE GEHEN
SIE MOGEN
IHR WISSEN
ES BRINGEN
SIE NENNEN
DU BRENNEN
IHR NENNEN
SIE WOLLEN

Das Imperfekt (modal and mixed
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ES TUN

DU SEIN

IHR SEIN

DU GEHEN
ES DENKEN
DU MOGEN
ES NEHMEN
DU NEHMEN
ES WOLLEN
DU RENNEN
ES BRENNEN
IHR DENKEN
IHR WERDEN
IHR NEHMEN
IHR SOLLEN
IHR WOLLEN
ES DURFEN
SIE NEHMEN

OCOmBJVIUVTOS>T>»PIMZO0OZIZ>0NCTr

4Z24044>» 2SS 4H000I>»>»nNnZ2L:S
S mMMmM>IINZ2>T0TMO>T A AMWTO
ZCcCHAH4d440mzzzA40rmm=<-o2=Z20
mMmXAXw IZmMmmMOAAZmMIwWOZ=ZImTr
4> 0 nNn0Z4AZZZ4AmMA40NOTOZIZTr

z2zZ2Z244>» 0«C—2>»-4mMZ20IX>>»IH
2 Z2—-—2>» I MOXW0NBDTUTOIZAHAZ2ZIr 20> m
> 40 4AIT>» 4 4mMm-4uvm-4IO0>>» 0 0Z24

IHR TUN

SIE TUN

DU HABEN
SIE SEIN

ES SOLLEN
IHR GEHEN
DU SOLLEN
ES KENNEN
ES RENNEN
ES NENNEN
SIE KENNEN
SIE SOLLEN
DU KONNEN
DU BRINGEN
SIE RENNEN
IHR MOGEN
DU MUSSEN
ES MUSSEN
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SIE DENKEN



IHR RENNEN



SIE BRINGEN
IHR BRENNEN SIE KONNEN IHR DURFEN
IHR BRINGEN SIE BRENNEN



Solution




